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↑ loush to remember !

Easier to remember with

Determinants

22determinant (ab)
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El (3) = 2 .7 - 3 . 1 = 1/

(2) = - 3

#determints

/ = alit-blitci)Ighi
E2



(a)(2) =

2/5 : 1- 1125) + 3/2s)
-

2 (19) - 1 (27) +3(40)
- 38 -27 + 120

- 65 + 120
= 55

(b)2 3, 4) =I 205
2) : 51-3145/
-
- 10 - 24 + 14

=

-34 + 14
=2



easyprintI
i (n2v3-ugvz) - j - -_ets.

Ex3 i = < 1 , 2 ,3)
-

v = < 1 , 0 ,2)

(a) xi = ii =I 102 I
i(4) - j(- 1) + k(2)

- < 4, 1 , -2)

(b)Xi = ii ? =I I O I
12 3
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EXT Find area of the

triangle with vertices

P= (0 , 0 , 0) ,
Q= ( -2,2 ,3)

R= (1 , 5 ,2)
Q

⑭
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